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No. HiE EiRES EHE=(ke)

1 =F5T ML111F1321 9,250
2 =F5T ML111E5701 7,500
3 =X v IA—N E1L1008$2607 3,700
4 =FXvITA—NN L1000/ 1891 4,600
5 =X v IA—N E1L1008$4493 3,400
6 =EBXvIA—N L1006 4494 3,400
7 =FX v IA—N BEHE130&4368 11,800
8 =FXvITA—NN fl1001%2462 6,200
9 =FFXvITA—NN [IL1001%2486 6,300
10 =FXvITA—NN mIL100(%2487 6,300
11 =FFXvITA—NN fl100HM6071 15,000
12 =&E+S94 fEIL100M5507 18,000
13 =&E+S94 fEIL100M 5508 18,000
14 =FXvITA—NN fl100H6248 13,100
15 =FFXvITA—NN [l100H6286 13,000
16 =57 FL100/,6348 10,500
17 =57 [@E1L100/76386 10,400
18 =t AW, [@1L140071=3722 400
19 =FXvIA—N [IL100(x3115 5,500
20 =FXvIA—N m1L100(%3159 9,200
21 tIkL—5 fIL100%588 31,000
22 FEEFYTH—N 1L40053320 2,000
23 =FXvIA—N [1L100(%3525 4,900
24 =F5T A#100(%134 9,700
25 =FXvITA—NN f1L100(%3709 6,100
26 =FXvITA—NN [EIL100(%3710 6,200
27 =F5T [E1L100m8591 10,400
28 =F5T [@1L100/8646 10,400
29 =FXvITA—NN #1100/ 9000 10,800
30 =FXvITA—NN [L100HmM9105 10,800
31| BREEEMIVTTERE 1L 100(%4001 8,700
32 =407 fEIL130%2677 10,500
33 =X vyT4—N E1001E4111 12,500
34 =57 fIL1001%4117 11,000
35 =&V T fL1001%4121 11,000
36 =ZN\Y MIL100E215 14,000
3 | REBFEEMIVTTEAE f1L1001%4308 8,800
38 =EXvyIAH—N [E1L100ZE231 13,300
39 =407 fIL130%2705 (KERAERC) 10,400
40 = Sk fELL100%435 13,000
41 HoTEIN—T [E1L1002%996 24,000
42 =EXvyIAH—N [1L100(%£4539 13,600
43 =EXvyIAH—N [E1L100I%4560 13,500
44 =FXvIA—N\ BEH130&9056 10,800
45 =AW f1L400T2858 450
46 =AW f1L400T2859 450
47 =ZEX¥yJ4—N\ [#1L100=1209 6,300
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72
73
74
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717
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Hig EiRES BHE=Eke

=&r5942 [1L100=1394 16,000
=&r5942 [@1L100E1429 16,000
FLOREIFL—F [E1IL100Z 1094 25,700
=&r5942 FL100E 1564 16,000
FLOREIFL—F EIL100Z1104 25,700
=&r5942 [E1L100%1565 16,000
YR EIFL—F FIL100%1117 25,600
=&r5942 [E1L100%1563 18,000
K-MOA T3 —F fE1L100%1099 26,300
YR EIFL—F IL100Z21119 28,000
rLOREIFL—F fIL100%21118 28,000
=N\ fEIL100Lv2215 3,200
BALI\NYIND L4801l 7885 350
=N\ fL100mM6147 13,600
FE2FER fIL301h 5882 EH

N BEH100&8491 3,800

=N\ fEIL100LV\3155 3,350
=N\ 1L 100Z3990 13,800
BT FERE BE100l%X1425 8,700
2R T— 3003y [M1L520£2739 A
—EETE fHILl8oo+808 2,800

= TAN f1L4007%:1166 400

= TAN f1L400%:1167 400

= TAN fE1L4007%:1220 400

= TAN f1L4007%:1331 400

= TAN fH1L4007%:1334 400

= TAN f1L400%:1335 400
=EETH [1L800I£1689 4,050
BALINYINY BEH480%4436 350
=F5T [Mil1001%6132 10,800
=EXvIA—N A#100l%1486 5,600
=FXvITA—NN fE1L1000L 4363 4,350
=F5T [1L100%4263 9,700
=FXvITA—NN fEIL100F4271 6,000
=EETH 800t 1618 2,700
REEEMIVTTFERE BH100(%x1775 7,900
fREEEMaTTFERE fEIL100E4374 12,800
=EXvyIAH—N FE1L100/mM6146 11,800
=N\ fEIL100E4479 7,400
fREEEMaTTFERE EH100(%x1818 12,900
UDRSYO RN EH1307T2019 13,999
fREEEMaTTFERE f1L100%4843 12,800
FrJdA—N EH1009575 2,000
FrdA—Nn [1L100%5029 12,500
FrdA—Nn [#1L100%5038 10,600
FEEART— 3003 ML50282733 %R
FrdA—Nn 1L 100=5087 6,000
FrJdA—N EH130&2102 9,000
FrdA—Nn [1L100%5155 10,400
TYUFINY [#1L4007%:6598 400
FodA—N [1L100%5232 12,500
FrIdA—N #1L100%5294 4,600
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